Y4 Maths Thurs 4th February 2021 — Worksheet
Use the bus stop method to solve the following calculations:

|. 744 divided by 3 =
2. 272 divided by 4 =
3. 688 divided by 8 =
4. 696 divided by 6 =
5. 224 divided by 7 =

Challenge I:

Mrs Walker hasusedthebusstopmethodto schea
calculation. lsshecorrect? Explainyour answer.
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505 +5 =11

Challenge 2:
Jamie iz uzging shert division to divide 3-digit numbers.

He has done these calculations but he ise't sure if they are right, You need to check them for him
You will need to fully explain amy mistakes you find so Jamie can know what he will need to do next time,
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